What's included

ring

top cap

magnet lock

(A) 1 x Top Lock

curved section

(D) 1 x Bottom Hinge

(G) 4 x Wall Plugs

Zs

(J) 4 x Medium Screws

Bag C

3 x70mm and 1 x shorter screw

pe€g

(M) 2 x Inner Spacers

Parts List Page 1

curved section

(B) 1 x Bottom Lock (C) 1 x Top Hinge

one hole

two holes

(F1) 1 x Spirit Level
(F2) 1x Marker Tool

Marker Tool comes inserted within the Spirit Level

(E1) 1 x Fast Mount™ Locking Rail with
one screw hole (E2) 1 x Fast Mount™
Hinge Rail with two screw holes

e

(1) 4 x Small Screws
3 x50mm and 1 x shorter screw

(H1) 2 x Small Lower Spacer
(H2) 1 x Large Lower Spacer

Bag D Bag E

Z
'’

(K) 4 x Large Screws

3 x80mm and 1 x shorter screw

(L) 2 x Extra Long Screws

1 x 100mm and 1 x shorter screw

6 x Spacer Inserts
(0) 2 x thin (P) 2 x medium
(Q) 2 x thick

(N1) 2 x Small Outer Spacer
Covers (N2) 1 x Large Outer
Spacer Cover

Page 4



What's included Parts List Continued

Handle

Locking side Hinge side

Secure-Track™

Corner Bolts

(R) 1 x Screw Fit Clear-View Gate

% g
(S) 2 x Allen Key (T) 1 x Removal Tool (U1) 1 x Leftand 1 x Right
One-Way Stopper (U2) 1 x Long

Barrel Nut

Step by step installation guide

© -

-

The Top and Bottom Locks are marked A and B on The Top and Bottom Hinges are marked C and D
the back. Slide A into the end marked A, and B into on the back. Slide C into the end marked C, and D
the end marked B on the Fast Mount™ Locking Rail into the end marked D on the Fast Mount™ Hinge
(E1) until they both snap into place. End A is the top Rail (E2) until they both snap into place. End Cis
of your Rail. the top of your Rail.

Page 5



